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SECTION -A

s . : .

A solution reacts with crushed egg-shells to give a gas that turns lime water
milky. The solution contains : l
&mmaﬁfgﬁﬁﬁmﬂamﬁﬁc&mﬁ{ﬁmaﬁﬁaﬁﬂﬁﬁ@wﬁw | (oTRCBI
PSR it FE | HACHIS UMD —
aﬁﬂémw%ma@nmﬂmﬁmmwfﬁwm@wﬁm | sITisife
PG (Il @ | 5fbS e
(a) NaC/

(by HC/
(c) LiCi
(d)y KC/
2.

Which of the following metals can replace copper from a solution of copper
sulphate ? 1

Wmﬂmmafmmmwaﬂwwwﬁﬁaﬁam-

ﬁm@ﬂmvgﬁavwsrﬁwﬁmcwmmumﬁ@mm

(a) Silver
feerore
a1

(by Gold
«'5%
11

(c) Zinc
R
fona

(d) Mercury
BIEIEIOE|

MIEL]
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fad

A molecule of propane has
4" (7% T1] 1O
HU17 99 93T I

(@) 10 covalent bonds

10 SErUrS 3R A
10 o STEere o U,

(b) 9 covalent bonds

0 STRLUTSY IR A
O e @ e

(c) 8 covalent bonds

8 STEIUIS) IR U
8 o smurs wmm e

(d) 11 covalent bonds

|l S2UrS) IEN U
1 b serare w5 U

4. Choose the metalloid from amongst the following elements :

BTG il CIETIeR (41 ergamst @i Sfvont 799
AE cront CRETOTE! (I €T [@e 7o

(a) Sodium
gfeum
rfeumy

(b)  Aluminium
SRty
QeI
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(€)  Chlorine
EED
crifas

(d) Boron
I'd[

SIEE

5. Choose the correct answer :

8% Saqre! Ife Sfeaal
a% oudd @8 13 :

The unit of specific resistance of a material in S.1. system 1s

4B “Wief] REFOR A5 TR IFS

a3 med RYR @IUTET AR, A3

(a) Q
(by Qm
(c) Qm’!
(dy Qm?

6. Choose the correct answer :

a5 Suqre! alfg Sfenaat
a% Sadib @7 19 :

The magnetic field inside a long solenoid carrying current is

RIS TS b NS 5 fEOIS (e %
sy 93 A SEHOed fFow e ova

(a) Increases as we move towards its end.

U ST P H A T

afSa =1 e F0T @S Y |
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(b) Decreases as we move towards its end.
B 284 B &0 9 919 |

af6d 9 e For o1 T |

(c) Zero
X7 27 |
T =W |

(d) Itis same at all points.
s feE A U |
4 e 93E U@ |

7. Emulsification of fat molecule is carred out by

5l S [E ENTEADsd saibe IE
s B[ (Emulsification) sefte =4

(a) Trypsin
foeifors

Trypsin 9 914l

(b) Pepsin
cotsiferd

Pepsin 9 7141

(c) Bilesalts
fora =rane

Bile salts (f@ &) ara

(d) Amylase
QTIREATST

Amylase =Idl
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The Plant hormone which stimulates cell division 1s

@1 Rrorems SR qurara gar Swa S@e s 1'E

SfaTia cu e ool coma oo R 10 91 [
(@)  Auxin

wf3s
MBS

(b) Cytokinin
BIBE " @Efa
SERrhranfaa

(¢) Abscisic acid

azsiEfie afte
agsiEfe afse

(d) Gibberelin
faranaferm

foarafera

9. Which of the following i1s not a biodegradable waste ?

@erd (@1arh! Oe fAfsaas anadian au 9
Tva canm A &g fAfE@ad (hiodegradable) &1 2

(a) Vegetable waste from the kitchen

sfaqad “Na-pferq |l
at GEd A S WA
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(b)  Old and torn clothes
437 w1 st
“RE BT I

(c)  Plastic packets
4f2Fq et
A4%5% sintes

(d) Old newspapers
3 ot ares

AR R G

10. A piece of wire of resistance 2 Q is cut into four equal parts. These parts are then

connected in parallel. If R denotes the equivalent resistance of the parallel
combination, then 2 Q : R is 1

2 Q @144 O 9T BB SNH WIS Gl Fq T | 3= 6B SIS SeEre
SO ] Z'E | TG Sl TG @14 R @ O 2 Q : R =1

znmammmﬁﬂmmm@ﬁwmammnmﬁm@mﬁ
STE@IN SROTS 91 AN | FAIGAE TEGbd THGT @4 R 2 2 Q - R 2@

(a) 16
|
(b) 1
|
(c) g

(d) 8
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SECTION - B

I. (@) An object is situated at the centre of curvature of a concave mirror. Draw

ray diagram showing the formation of image. I
O EOE AR GIOES Jb1 STy (Nl O | ¢fy foaq SRS
HfSRrgq o7 oryaat |
A3 Tes R oo 43I WY AN AR | gfforar STl
sAfefasba 157 crang |
(b) An object is placed at a distance of 10 c¢m infornt of a convex mirror. The
image is formed at 5 cm behind the mirror. Find the focal length of the
convex mirror. 2
S HIA 94T S 10 (2fi, EeS ST I 96! 41 T | WA (I
5 cafi. e o e e | SUe AATE T TR ey Sfenadt |
4T Sae Fofa STLY 10 G R0y 93fb TG Tl 2R | wofeifba fPreafae
5 o7y e ol oS zure | Soe we(iBa coErrs-tadT e Fl |
12. A convex lens of focal length 30 cm produces a real image 3 times magnified.
Find the object distance. 3
30 czfi. TN {99 947 BT TR 3 o e - Af6fre 207 @ | T IJI
o Ay 1

3omﬁmﬂm§mﬁ%mﬂ@wsmﬁﬁmﬁ%ﬁﬂmm .
wTaea SeE () e |

Or/ATRaN=T4
An object of size | cm is placed at a distance of 15 cm infront of a convex lens

of focal length 10 cm. Find the nature, size and the location of the image.

1 caffl, TIFTEE T TF 9B, 10 @, e T ST T 94T TS 15 @,
@Yo 1 (R | sffrq 9gfe, W e Sy w39t |

1mﬁmmaﬁaw1omﬁmmaﬁ@wmmwm
mwmwﬁﬁﬁmﬁ%,wammﬂﬁmM1
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3. (a)  What are the far point and near point of the human eye with normal vision ? |
Atias §Ra Aiqe aowe A @ Reg ara fres ey o o

N4 Af2 s aarom ceie g aw Fa g & B 9

(h) Why do we see rainbow alter a rain shower ” 1

Y14 e anfy 3ened et 0

Rt “fea @ 2 @ i 9

() A person needs a lens of power + 1.5 D for correction of his vision — 3
A At qfes g ofsara st + 1.5 D wwoR @We aene sReET
[ela

TG @A iz e «fsare s + 1.5 D wWor Eese SmreR |

(1)  What kind of defect he is suffering from ?
@4 423 fa fqaree g ¢
fofa & «anrz o2 ferm g 2

(i1)  What is the focal length of the corrective lens ?

AfSHR eI T g il e 2

AR @Eida et o 9

(ii1) What is the nature of the corrective lens ?

S TTeq 430 fa ¢
Afom Ersifha 49fs & 7

B15-GSc (New) (EN/AS/BN) 9 Contd.



. - = 30 Q and
14. In the circuit given below four resistors Ry =7 £, R, =10 €. Ry ’

) ' ‘total resistance in
Ry=5Qand a 12 V battery are connected. Calculate (i) the total

the circuit (ii) the current in the circuit.

~ 2
Gaﬁaﬁmmﬁm@wmﬂgkfIUQ.R3=3UQ. R, =5 Qe 61 12

V OIS STROule et g | IENEHR (i) [P @Y € (ii)r{bﬁwﬁmﬁﬁmww
|

Few I R, =7 Q. R, = 10£, R3=30§2.R4=snﬁsmﬁcmwaa: 3o
12 V 7B Sears 33t e | IS (i) o6 WY AR (i) o5 R starced Sifet

fRefy Tt |
R,
AA
YYY
RJ
R,
Rl
AMAAAAA * |||=_—
VY | 12 Volt
Or/ATRr/syat

Show how you would connect three resistors, each of resistance 6 €2, so that the
combination has a resistance of

(i) 9 Qand (ii) 2 Q

M6Qmﬁﬁﬁﬁmmmmﬂaﬁmmm@¢
()9 Qe (ii)2QTI?

ﬁﬁﬁéﬂ@«ﬁﬂﬁ@%@@@ﬂ:@ﬂwmm@q
()9 QAR (i) 2QTA !

B15-GSc (New) (EN/AS/BN) 10
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I5. Distinguish between electric generator and electric motor. Explain the

. o 1 e . 2 P > e
functions of (i) the brush ring in electric generator and (ii) slip rings in electric
motor. I+1+1=3

WIS OB W wpfos wbea wow wer et ¢ (i) Wew (OB
an f wre (ii) @Pfes Thaw e fRz-g (slip rings) I & 2

@PIT OIEBR 9t wfos Wowa e B B 2 (i) QST CGAIEEE brush
ring (@1 R) 9@ (i) Wyfow W5e slip rings (et f) 97 FCAROT A4 IR |

Or/ATR3y/zUat

Explain the phenomenon of electromagnetic induction with an experiment.

ﬁmaﬁmm@ﬁmﬁﬁumwﬁmqvﬁml
436 AT SR RYR pedn SReT e at 3@t |

16. What will be the work done in moving 2 C charge through a potential difference
of 12 volt ? 1

12 vﬁwwﬁrﬁﬁzmmzcmmﬁmﬁ@mﬁmﬁwwwﬂa?
12V k@3 coma 9f6 R swwer farw 2 € s bifers aawe N stfiie a1¢ w41 =@ 2

I7. Problems associated with construction of big dams are (select the correct answer
from the answer given below) 1

IR TG g 10 Tfes 2 I3 SN PR T (O fint aF Seacy! A
Sferaat)

IR FAH R SO0 Gfes st SR 21 (Fse oF Sl @rg Ana)
(i) large areas of agricultural land are lost

IR AT =157 A @EQIETNT 27 |

IR ARSEE =CFG WIANS 2 |
B15-GSc (New) (EN/AS/BN) , 1 Conrd.



(i1)

large eco systems are destroyed
IR Afsffoos fme =n |
I ooy fme |

(111) neither (1) nor (i1)

(i) 9 (ii) QB A=Y |
(i) @32 (ii) 93 IR AW |

(iv) both (i) and (ii)

(i) T (ii) FONMB1 |
(i) 93 (ii) 93 SerR &Y |

18. What is ozone layer and how it is getting depleted ?
' &4 6 AT RIR @ Sy abee ?

ST (0zone) T A A 7 wawFy IO Y6LE ?
Or /T3Syt

What is Ecosystem and what are its components ?

qﬁﬁ%wﬁrwméwﬁmmﬁf?
qﬁﬁﬁswé’ma&aﬁa@mﬂewa‘?ﬁa?

We short notes on any two of the following :

oora T QTG (o Bera ferat |
mmmm@ﬂamﬁﬁmm:

(a) Sustainable management
AW @
Ty AT
B15-GSc (New) (EN/AS/BN) 12
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(b)  Water harvesting
AN TeTq

Gie] H0yq

(c) Dams

TR
iy

20. Distinguish between fossil fuel and solar energy as direct source of energy.

e AorT GoF fZ5is SRrToTs 3 wre (e e get 341 |
g ForF B R SRMreIs 2 a3 cliefed ge! 3 |

\}_/Write short note on any one of the following : 2
we1d U I 9B GBIt ot |

@ @ Q3BT Sog NUF oo @t

(i) Hydro Power Plant
GeIfe oI
Geife AW

(i) Solar Cooker
5'Aq PIE
AR FIE

22. Why are decomposition reactions called the opposite of combination reactions ?

Write equations for these reactions.

Wmmwﬁmﬁmmmﬁmmwmﬁuq

ferat
mmmmmﬁﬁemmm?ﬁm@mqﬁmq

2

ceAedt |

B15-GSc (New) (EN/AS/BN) 13 Contd.



23. Take?2 g of silver chloride in a China dish and place it 1f sun-light.
AN BRI YT ngiﬁ?iwrzﬂi@ @il @ Burd A i <
93 B A 2 ¢ freor ariEs Ao ad afbce spffeart @ed |
(@)  What is the colour of silver chloride after some time ?
frg sy Fres feerer 7 3%se 3¢ @ 249 2
frg s i e Grriced g I A3 7

(b)  What type of reaction takes place ?
fr sorre fifrm o =3 2

A g e safee == 2

(¢) Write the chemical reaction for the above observation.

OoIq LT IS R[RiFas: e |
@ AdEwng asfie [RfFu e |
Or/AT23/=Y

Translate the following statements into chemical equations and balance them :

OFq SR AR SRR 910 forat Wi sigers |
e SFoEE AT TG TA G0 AR SFod I |

(a) Barium chloride reacts with aluminium sulphate to give aluminium
chloride and a precipitate of barium sulphate.

cfmm F3R@ S eEwhd de R oo aafifum ek
Beom T Wie QRUN 2EATes SfiEg = |

@ﬁmwﬁ@aqﬁﬁmmﬁmﬁaﬂmﬁmmmamm
Bestny xy a3 QRN SEeed o =y |

B15-GSc (New) (EN/AS/BN) 14



b) Zinc rea X ;
( Cts with CUP!W!Q give ziuﬂlphalc and metallic copper.

;wa AT RI00h S Riau! oM forIFcrs S ¢hod a7 SR
|

R, TAR ST S REwn s T ROl Seeh a3t (oY FH1E e
IE |

(c) Hydrogen sulphide Wiliifis in air (o give watefi@hd sulphur dioxide.
XRG (OH BITIRG IS | q GIZOIFEG O 2Y |

mmmwmwmtweﬁ-m@qwm |

24. Whatis pH ?

You are given two solutions A and B. The pH of solution A is 6 and pH of the
solution B is 8. Which solution has more hydrogen ion concentration ? Which of
these solutions is acidic and which one is basic 7 3

pH 31F QIT=T ?

(O A e B 16 5wt 2 | A BCO pH ¥ 5TH 6 W% B-5A6E pH-3 W17 8 |
wﬁ@rmm‘mwmaﬁi?mmmwmwﬁuﬁ?

pH @ ?

mwiﬁﬁaAa«Bmmm | A 5%d pH 99 19 6 3R B-53f67 pH a3 W
8 |mﬂﬁwmmm@ﬁ?ammﬁuﬁaﬂamwﬁﬁm@ﬂ
Eq ?

Or/ARay/=yar

What is Plaster of Paris 7 How is it prepared ? Give one important use.

mmcﬂﬁwﬁsviﬂwmmwm?maﬁeﬂﬁww |
mmmafaﬁawmwm?amaaﬂ%ewwmﬁm ;

Contd
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25. Anp: -

Mﬂdlc table has been shown below :
~Group -
: & L] 1| XVI| XV | XV

PEI’lud L \\‘\H

B

2 B| D C
- 3 E

On the basis of the above table answer the following questions :
(1) Which element will form cation ?

(1)  Which element will have smallest atomic size ?

(ili) Which element will have chemical properties similar to Magnesium
(atomic number 12) ?

FY1qT SIfeTdTe Qb1 TR TS YT T

3f—
seifir L 1| I | XVI | XVI | XVI
2 B D &
3 E

Q99T oI oo fofe 3T Tae FamRe S fera

(i) B! G @BMA 169 N ?

(i) CIACE CNeTq ARNAIT WA ABERSE I 2 |

(iii) CICE! CRET SRS ¢ HNATRNING (HRNARS 247 12) TS 90 4399 ?
HfqT ©iferard 3B TR A6 AT T

If -
11 11| XVI| XVI | XVII
oy
7 4 B D C
3 E

BoiEe ofEara o ol I AT FLBET TI T

(i) @R C=(b BN T I ?

(i) @ oNefa RN S SO I 2

(iii) @R Citea AsuHe of TEAEREE (R 2 12) St 99 wamg ©

Or/At2ar/syat
B15-GSc (New) (EN/AS/BN) 16



26.

Tt op 1
Nitrogen (atomic Numbey 7)

group 15 of the Periodic 1a, and Phosphorus (atomic number I5) belong to
labl 5 y A : .
elements. Whic|, of these eley, €. Write the electronic configuration of the two
. ]

ents w
ARY TS (ATl &

1l be more electronegative and why ?

ST T) WIE wewrry (st s 1) AT ST I

15% YT | 9%

mﬁaﬁ%ﬁ?ﬂﬂ%m | X209 @I o @fe RyRaerers
e g 9
mﬁm(ﬂrﬂwﬁasmwnnaa:

(a) Why is sodium kept immersed in kerosene oil ?
E‘mwmmmmw'm?
STeU €19 @7 @ ot Bt arr =y 9

(b) Write equations for the reactions of
oo RiFnwiss asmfie sfieed frar
Tewa Rfrw e sy Sfleat e

(1) Iron with steam

TT® Gy IPHT 910 WUIe [fmar
TU® Ty I Sov errerd fafa

(i1) Calcium with water

A1 FAso @erenma Rfwa

(c) Explain corrosion with an example. 5

BT T O FRGIT M I

3% Trzat STECUIY WG I I |
Or/ATRa/Iryat

7 !
B15.GSc (New) (EN/AS/BN) 1 Conrd.



a 7 . - T Te
(@) Youare given a hammer, a battery. wires and a switch.

Wﬂmﬁt.m@mmwﬁwmﬁﬁﬁmﬁ '
m‘ﬂﬁw@' -ﬂﬁm, j@éﬁsﬂa‘: ﬂaﬁ;ﬁsﬁ\jm 5l |

: et o , : .5 of metals
(1) How could you use them to distinguish between samples

1
and non-metals ?

aimmaﬁwmmmmm?

aiaqammmmqamm@wmﬁﬂ@?

(ii) Assess the usefulness of these tests in distinguishing between metals

and non-metals. l

mwmmwﬁmﬁmﬁ‘mwﬁw |

wammmwﬁﬁmemswﬁmqﬁnmw |

(b) Give reasons :
IR "TC‘fTaT :
I Y13 -
(i) Platinum, gold and silver are used to make jewellery. 1
o1 toure Ffte oA, o' W feeTere IRER TRt zw |

TR tofd A B, GAT 932 Ff 9T I 7Y |

(i) Aluminium is a highly reactive metal. yet it is used to make utensils
for cooking. I

aefffm TR SfE 6 SUf WT IHO JaER A ST WouR

anﬁmmmmmaamﬁmwwm
TouR IO I I W |

B15-GSc (New) (EN/AS/BN) 18



(il
) How can you get compound *A* back from *B" 7

B QIR fat * A" dionct {77 ot gk o oA ?
‘B’ al+(fp e A" b @ @i < siodl U ?

(iv) Name the process and write the chemical equation for the conversion of "B’
oA
B* QAR A" Gt 991 ST AR AW ST 2R IS S
fevart

B alef@ A’ Al Feed sar dfeufea A aR sefx® arsufEe
SIGEA @t |

Or/ANRat/zY3t

(a) Why is the conversion of ethanol to ethanoic acid an oxidation reaction ?

Write the reaction. 2

ST 2R e Aot SMree Fio! fFu 9ot e fafewur ¢ fafwaner fen o
ST RS AT Fied 3l @7 93 s Rfww ¢ ffen et |

(b) How would you distinguish experimentally between an alcohol and a

carboxylic acid ? >

ST STRITS e T e I e afess Wow e fan oy oA

oS5 ST OeTEE A IR AfSFed 41T I G CRITeT! T 2

B15-GSc (New) (EN/AS/BN) 20



(€) A mixture of 0 e - ‘ i
\ygen ang cthyne is burnt for welding. Why a mixture of
L‘lh}'lll.‘ and air IS ot used 2 .

T O i s (Welding) wfarem o BT Bad m o =0 |
BUEFT oo

a@ﬁmw%mmawm?

TR (O tagrg (welding

RUTRH A9

) FNY WfEre W3 BUERE g 5a9 @9 20 |
M’ﬁfﬁmmwwwm?

28. Write the name of two types of nerve processes. 1

R 4979 WY AT A fergy |
92 4RI WY Hed AN @Y |
Or/AT3ITAAN

Give an example of chemotropism in plant.

Sfewo @ SR O51 Sargee ft o

Sfete EHfeTE 43 AT 3 |

. dinal section of a flower and label the different parts. 2
39-/Draw a longitudinal s

mamwfﬁz@ﬁ‘aﬁ@ﬁm"mmw'

fifor w1 STz fofes @@t |

Il
FRGar AfCog SRCT oo 21 Conrd,
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30,

3l.

32,

How fruit is formed in lowering plant?

St S @ v iR 2 27

Sofeoid Bfgn AT o W e 20 ?
Or/ATRINTYA

What are the different contraceptive methods ?

Rfon g37e TEAENS wfo & @ 2
Rfer ¢ama RS TEo J I ?

What is synapse ? How nerve impulse passes across synapse :

SRmelE 5 9 YA @ALD SRR N A =W ?

SizATes H ? mqmawmmﬂamwﬁmm ?
Or/ATR3/ITYA

How Mimosa plant responses to stimulus ?

RS T T Sasare oS SAfT S 7
RroarsTt 5% Srotw SR« Aol 7 2

How sex is determined in man ? Explain with necessary diagram,

m%ﬂ@ﬁﬁﬁ@@?ﬁm@ﬂﬂfﬁ?h@%ﬁn
wmmﬁm@m?MMme[
Or/AT2a/SYA

How do the traits get expressed in plants and animals ?

@mwmﬁﬁmmﬁﬁﬁmmm?
aw@&wamm%mﬁm‘caﬁﬁmﬁmr

B15-GSe (New) (EN/AS/BN) 2
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33, Describe the di

ferent processes of release of energy from glucose in living

W)
organisms,

mﬂ‘mwﬁﬁﬁhﬁfm%aWWI
@mmcwﬁﬁnﬁaﬁ%uﬁ%aﬁmmi

Or/aray/sraar

How transport of watdiIo0dand o  her substandeSaccur in plant ?
TS @At AR, S e s s

Fo T, 4 93 T S < >

23
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